
SAP ABAP table EDISCVAR {Disconn.Doc.: Processing Variant}

EDISCVAR

MANDT [CLNT (3)]

DISCPROCV [CHAR (4)]

ORD_CODE_D [CHAR (4)]

ORD_CODE_R [CHAR (4)]

CHARGE_DC [CHAR (2)]

CHARGE_RC [CHAR (2)]

BC_D_TYPE [CHAR (3)]

BC_D_CLASS [CHAR (4)]

BC_D_ACTVT [CHAR (4)]

BC_R_TYPE [CHAR (3)]

BC_R_CLASS [CHAR (4)]

BC_R_ACTVT [CHAR (4)]

ORDSTATE_D [NUMC (2)]

ORDSTATE_R [NUMC (2)]

NOT_CODE_D [CHAR (4)]

NOT_CODE_R [CHAR (4)]

BCONTA

MANDT [CLNT (3)]

CCLASS [CHAR (4)]

ACTIVITY [CHAR (4)]

 EDISCVAR-BC_D_ACTVT = BCONTA-ACTIVITY 

0..N

0..N

 EDISCVAR-BC_R_ACTVT = BCONTA-ACTIVITY 0..N

0..N

BCONTC

MANDT [CLNT (3)]

CCLASS [CHAR (4)]

 EDISCVAR-BC_D_CLASS = BCONTC-CCLASS 

0..N

0..N

 EDISCVAR-BC_R_CLASS = BCONTC-CCLASS 0..N

0..N

BCONTT

MANDT [CLNT (3)]

CTYPE [CHAR (3)]

 EDISCVAR-BC_D_TYPE = BCONTT-CTYPE 
0..N

0..N
 EDISCVAR-BC_R_TYPE = BCONTT-CTYPE 0..N

0..N

EDISCORDSTATE

MANDT [CLNT (3)]

ORDSTATE [NUMC (2)]

 EDISCVAR-ORDSTATE_D = EDISCORDSTATE-ORDSTATE 
0..N

1  EDISCVAR-ORDSTATE_R = EDISCORDSTATE-ORDSTATE 0..N
1

T000

MANDT [CLNT (3)]

 EDISCVAR-MANDT = T000-MANDT 

0..N

0..N

TENOCODES

MANDT [CLNT (3)]

NOTIF_CODE [CHAR (4)]

 EDISCVAR-NOT_CODE_D = TENOCODES-NOTIF_CODE 

0..N

1

 EDISCVAR-NOT_CODE_R = TENOCODES-NOTIF_CODE 
0..N

1

TEWOCODES

MANDT [CLNT (3)]

ORDER_CODE [CHAR (4)]

 EDISCVAR-ORD_CODE_D = TEWOCODES-ORDER_CODE 

0..N

1

 EDISCVAR-ORD_CODE_R = TEWOCODES-ORDER_CODE 

0..N

1

TFK047E

MANDT [CLNT (3)]

CHGID [CHAR (2)]

 EDISCVAR-CHARGE_DC = TFK047E-CHGID 

0..N

1

 EDISCVAR-CHARGE_RC = TFK047E-CHGID 

0..N

1


